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Attempt five questions in -all.
All questions carry equal marks.
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l.. What is Production Possibility Curve ? How is it used to explain
the central problem of an economy ? p.A]
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(ﬁ) 'Explaiﬁ the Income Elasticity of demand and Cross elasticity

of demand..

(b)) 1f two straight line demand curves intersect each other
which of them will higher elasticity of demand at the

point of intersection.

(¢) The following is the demand schedule of a

commodity X :

Price of good Demand for X
' . . .
X (Rs)) (Units)
8 50
6 80
4 . 150

- Calculate price elasticity of demand when price falls from

Rs. 8 to Rs. 4, given data above. 668
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(a)  Explain consumer equilibrium with the help of indifference

curve analysis.

(b) Explain with the help of indifference curve the income
_and substitution effects of a fall in the price of a
commodity. ) 10,10
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(@) Explain the laws of variable proportions.

(6) Calculate the TFC, TVC, AVC, AFC, AC and MC from

the given data : . ) 8,12
Output Total Cost
(unit) (Rs)
0 100
1 ' 150
2 ZIQ
3 280
4 340



(5 ) ' 7612
(%) dftadl 3o fradl &t =men i)
(@) Frefefon stegl @ %@ fer @, %@

@, sied | wE dEE @rd &

Hifaw
St
0 100
1 ' 150
2 210
3 280
4 340
5 390
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What are the essential features of a perfectly competitive
market 2 Describe the process by which the profits of firms

in a competitive market arc eliminated in the long-run. Use

diagrarn;. ' . 2
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V;fhal are the assumptions of ﬁ.'lon'opoli;lic competition ? How
dogs a firm in monopolistic compgtilion achieve equilibrium in
short-run and long-run. :Show the excess capacity of .lhe firm.
Is long-run equilibrium efficient ? | 20
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Explain how the international u.'at.ie takes place'when there are :
(a) - Absolute cost differences
(h) Comgaralive cost differences.

Also explain the criticism of the theory of comparative cost
differen_ces_. . _ 20
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Write short notes-on any fwo. : 10,10

(a) Economic rent
(b) Derivation of supply curve of labour
(é) Economies and diseconomies of scale..
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